Efficiency vs Dxy(PV)
SO'O

$018
x
9.016
>
2.014
c
012
=
% 0,01}
0.008
0.006

0.

)5 =20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

— m ] —Global_mKFTI0000__RECO
—— DQM_V0001~R000000001_Global _mKkFit1000__RECH

—— DQM_V0001~R000000001_Global _mkFit1000ATime__RECO
— —— DQM_V0001~R000000001 _Global _mkFit1000CTime _RECO
[[Efficiend] —— DM V0001 R000000001 _Global _mKkFit1000MTime _RECO

2040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

s 0.1
%0.09)
kel
20.08
3
20.07
o
(5}
£0.06
(5]
0.05
0.04
0.03
0.02
0.01}

1.0

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

o o
[e)] ~l

o
2]

efficiency vs dz(PV)

I
»
T

o
w
T




	Contents
	Page 1


